

Turkish Journal of Mathematics

http://journals.tubitak.gov.tr/math/

Turk J Math (2020) 44: 1852 – 1870 © TÜBİTAK doi:10.3906/mat-1912-101

Research Article

Application of spectral mapping method to Dirac operator

Rauf AMİROV[®], Merve ARSLANTAŞ^{*}[®]

Department of Mathematics, Faculty of Sciences, Cumhuriyet University, Sivas, Turkey

Received: 27.12.2019 • Accepted/Published Online: 27.07.2020 • Fi	Final Version: 21.09.2020
---	---------------------------

Abstract: In the present study, theorems related to the uniqueness of the solution of inverse problems for Dirac equations system are proved by applying spectral mapping method. With the help of this method, the inverse problem is reduced to the so-called main equation, which corresponds to the problem of existence and uniqueness of the solution of the system of linear equations in the Banach space.

Key words: Dirac operator, Weyl function, inverse problem

1. Introduction

Let E be the 2×2 indentity matrix and let

$$\sigma_1 = \begin{pmatrix} 0 & i \\ -i & 0 \end{pmatrix}, \quad \sigma_2 = \begin{pmatrix} 1 & 0 \\ 0 & -1 \end{pmatrix}, \quad \sigma_3 = \begin{pmatrix} 0 & 1 \\ 1 & 0 \end{pmatrix}$$

are the well-known Pauly matrices, which have the following properties: $\sigma_k^2 = E$, $\sigma_k^* = \sigma_k$ (self-adjointness), $\sigma_k \sigma_j = -\sigma_j \sigma_k$, $k \neq j$ (anticommutativity), j, k = 1, 2, 3. Let $p, q, r \in L[0, \pi]$, i.e. p(x), q(x), r(x) is a real valued, summable on $[0, \pi]$ functions. We consider the canonical Dirac system

$$lY := \left\{ B \frac{d}{dx} + \Omega\left(x\right) \right\} Y = \lambda Y, \quad Y = \begin{pmatrix} y_1 \\ y_2 \end{pmatrix}, \quad \lambda \in \mathbb{C}$$

where $B = -i\sigma_1 = \begin{pmatrix} 0 & 1 \\ -1 & 0 \end{pmatrix}$ and the matrix is

$$\Omega(x) = \left(\begin{array}{cc} p(x) & q(x) \\ q(x) & r(x) \end{array}\right)$$

usually called a potential. By $L(p,q,\alpha,\beta) = L(\Omega,\alpha,\beta)$ we will denote the boundary value problems

$$lY = \lambda Y, \ x \in (0,\pi), \ Y = \begin{pmatrix} y_1 \\ y_2 \end{pmatrix}, \ \lambda \in \mathbb{C}$$
 (1.1)

$$U(y) := y_1(0) \sin \alpha + y_2(0) \cos \alpha = 0$$
(1.2)

*Correspondence: mguray@cumhuriyet.edu.tr

²⁰¹⁰ AMS Mathematics Subject Classification: 34A55, 34B24, 34L05

$$V(y) := y_1(\pi) \sin\beta + y_2(\pi) \cos\beta = 0$$
(1.3)

By the same $L(\Omega, \alpha, \beta)$ we denote the self-adjoint operator, generated by differential expression l in Hilbert space of two component vector-functions $L^2([0, \pi], \mathbb{C}^2)$ with the domain

$$D_{L} = \left\{ \begin{array}{l} Y = \begin{pmatrix} y_{1} \\ y_{2} \end{pmatrix} : y_{1}, y_{2} \in AC[0,\pi], lY \in L^{2}[0,\pi], \\ y_{1}(0)\sin\alpha + y_{2}(0)\cos\alpha = 0, y_{1}(\pi)\sin\beta + y_{2}(\pi)\cos\beta = 0 \end{array} \right\}$$

Under $AC[0,\pi]$ we understand the set of absolutely continuous function, defined on $[0,\pi]$.

In this paper we study the inverse problem for the Dirac operator with continuous potential. The Dirac equation, which is the relativistic generalization of the Schrödünger equation, describes the relativistic motion of elementary spin- $\frac{1}{2}$ paubicles, such as electrons and quarks, in quantum mechanics. A good way to understand the quantum system is to study the scattering and boundary value problems theory since the system cannot be seen directly. In the scattering process, particles, which are originally for away from the range of the potential, are sent in a direction to wards the scattering centre and scattered by the effect of the potential.

The inverse scattering problem can also be approached by the inverse boundary value problem. As is well known (see [6, 11]), for the Dirac equation with compact supported coefficients, the inverse scattering problem at fixed energy is equivalent to the inverse boundary value problem on a region containing the supports of the coefficients. In the [7] study, uniqueness theorems were obtained for the solution of the scattering problem in the semi-axis for the system of Dirac equations of 2n order.

The uniqueness of inverse problems for the Dirac operator is studied by several authors [4, 10, 15, 16] for particular potentials, such as the electric potential and the electro-magnetic potential. In particularly, in the paper [13] the uniqueness of both the inverse boundary value problem and inverse scattering problem for Dirac equation with a magnetic potential and an electrical potential are proved. Also, a relation between the Dirichlet to Dirichlet map for the inverse boundary value problem and the scattering amplitude for the inverse scattering problem is given.

In recent years of the problems for the Dirac operators of attention because of the applications of these problems in physics, mechanics and engineering. Hereby, this type of problems were widely investigted by many authors, also the investigations were continued and developed in many directions. For example, some aspects of the direct spectral problems were studied in [6, 8, 11, 12, 19] and the references therein, moreover, the inverse spectral problems according spectral data are examined in the works [6, 8, 10–12, 14, 19] where further references can be found. In the paper [3] real numbers A_1, A_2 are obtained which are such that for $\lambda > A_1$ or $\lambda < A_2$ there are no nontrivial solutions of the Dirac equation which are in $L^2(a, \infty)$ for some a > 0. Precise values for A_1 and A_2 are obtained in certain cases. In the [5, 18] studies for the Sturm-Liouville problem, the countour integral method was applied in the solution of inverse problems and some uniqueness theorems were proved with the help of this method. In study [1] regularized trace, which has an important plase in the solution of the inverse problem according to two spektrums in the finite interval for Dirac systems, was calculated. Inverse problems for the singular Dirac systems in the finite interval are examined in [2, 4, 17] studies and varios uniqueness theorems are obtained for their solution.

In the present paper, as different from other studies solve the inverse problem of recovering Dirac operator from the given spectral data by using ideas of the contour integral method.

2. Preliminaries

Denote by $\varphi(x,\lambda) = \begin{pmatrix} \varphi_1(x,\lambda) \\ \varphi_2(x,\lambda) \end{pmatrix}$, $\psi(x,\lambda) = \begin{pmatrix} \psi_1(x,\lambda) \\ \psi_2(x,\lambda) \end{pmatrix}$ the solutions of the system (1.1), satisfying the initial conditions

conditions

$$\varphi_1(0,\lambda) = \cos\alpha, \ \varphi_2(0,\lambda) = -\sin\alpha$$
$$\psi_1(\pi,\lambda) = \cos\beta, \ \psi_2(\pi,\lambda) = -\sin\beta$$

Definition 2.1 If the boundary value problem L has a nontrivial solution $Y(x, \lambda) \neq 0$ for certain λ_1 , then λ_1 is called an eigenvalue and $Y(x, \lambda_1)$ is called an eigenfunction of L.

Definition 2.2 Let the λ_n , $n \in \mathbb{N}$ numbers be the eigenvalues of the problem L. In this case, the normalizing numbers of the problem L are defined as follows:

$$\alpha_n := \int_0^\pi \left\{ \varphi_1^2(x, \lambda_n) + \varphi_2^2(x, \lambda_n) \right\} dx.$$

Definition 2.3 The characteristic function of the problem (1.1)-(1.3) is defined as follows:

$$\Delta(\lambda) = \begin{vmatrix} \varphi_1(x,\lambda) & \varphi_2(x,\lambda) \\ \psi_1(x,\lambda) & \psi_2(x,\lambda) \end{vmatrix}$$
$$= \varphi_1(x,\lambda)\psi_2(x,\lambda) - \varphi_2(x,\lambda)\psi_1(x,\lambda).$$

The function $\Delta(\lambda)$ does not depend on x. Therefore the following equations can be written for the $\Delta(\lambda)$ function:

$$\begin{aligned} \Delta \left(\lambda \right) &= \varphi_1(0,\lambda)\psi_2(0,\lambda) - \varphi_2(0,\lambda)\psi_1(0,\lambda) \\ &= \cos\alpha\psi_2(0,\lambda) + \sin\alpha\psi_1(0,\lambda) \\ &= \varphi_1(\pi,\lambda)\psi_2(\pi,\lambda) - \varphi_2(\pi,\lambda)\psi_1(\pi,\lambda) \\ &= -\sin\beta\varphi_1(\pi,\lambda) - \cos\beta\varphi_2(\pi,\lambda). \end{aligned}$$

In addition, the zeros of the $\Delta(\lambda)$ characteristic function coincide with the eigenvalues of the problem L.

Lemma 2.4 As $|\lambda| \to \infty$ uniformly in x (for $0 \le x \le \pi$) the estimates

$$\begin{cases} \varphi_1(x,\lambda) = \cos \left\{ \xi(x,\lambda) - \alpha \right\} + O(\lambda^{-1}) \\ \varphi_2(x,\lambda) = \sin \left\{ \xi(x,\lambda) - \alpha \right\} + O(\lambda^{-1}) \end{cases}$$
(2.1)

are valid.

Proof It was demonstrated in study [10] that the following equations are valid for functions $\varphi_1(x,\lambda)$ and $\varphi_2(x,\lambda)$

$$\varphi_1(x,\lambda) = \cos\left\{\xi(x,\lambda) - \alpha\right\} + \int_0^x \left\{K_{11}(x,s)\cos\left(\lambda s - \alpha\right) + K_{12}(x,s)\sin\left(\lambda s - \alpha\right)\right\} ds \tag{2.2}$$

$$\varphi_2(x,\lambda) = \sin\left\{\xi(x,\lambda) - \alpha\right\} + \int_0^x \left\{K_{21}(x,s)\cos\left(\lambda s - \alpha\right) - K_{22}(x,s)\sin\left(\lambda s - \alpha\right)\right\} ds \tag{2.3}$$

where $\xi(x,\lambda) = \lambda x - \frac{1}{2} \int_{0}^{x} [p(\tau) - r(\tau)] d\tau$. It is clear that the equations (2.1) will be obtained, if partial

integration is applied to the integrals once in the expressions of functions $\varphi_1(x,\lambda)$ and $\varphi_2(x,\lambda)$.

Lemma 2.5 The eigenvalues of the boundary-value problem L are simple.

Proof Since $\varphi(x, \lambda)$ satisfies the boundary condition (1.2), to determine the eigenvalues of the problem under consideration, the functions $\varphi_1(x, \lambda)$, $\varphi_2(x, \lambda)$ should be substituted in the boundary condition (1.3), and its roots should be found. Put

$$D(\lambda) = \varphi_1(\pi, \lambda) \sin \beta + \varphi_2(\pi, \lambda) \cos \beta.$$

Then

$$\frac{dD\left(\lambda\right)}{d\lambda} = \frac{\partial\varphi_1}{\partial\lambda}\sin\beta + \frac{\partial\varphi_2}{\partial\lambda}\cos\beta.$$

Let λ_0 be a double eigenvalue and $\varphi^0(x, \lambda_0)$ one of the corresponding vector-valued eigenfunctions. Then the conditions $D(\lambda_0) = 0$, $\frac{dD(\lambda_0)}{d\lambda} = 0$ should be fulfilled simultaneously, i.e.

$$\varphi_1^0(\pi,\lambda_0)\sin\beta + \varphi_2^0(\pi,\lambda_0)\cos\beta = 0$$

$$\frac{\partial}{\partial\lambda}\varphi_1^0(\pi,\lambda_0)\sin\beta + \frac{\partial}{\partial\lambda}\varphi_2^0(\pi,\lambda_0)\cos\beta = 0.$$

Since $\sin\beta$ and $\cos\beta$ cannot vanish simultaneously, it follows from the last two equalities that

$$\varphi_2^0(\pi,\lambda)\frac{\partial\varphi_1^0(\pi,\lambda_0)}{\partial\lambda} - \varphi_1^0(\pi,\lambda)\frac{\partial\varphi_2^0(\pi,\lambda_0)}{\partial\lambda} = 0.$$
(2.4)

Now, differentiating the system (1.1) with respect to λ

$$\left(\frac{\partial y_2}{\partial \lambda}\right)_{x_{\prime}} + \left\{p(x) - \lambda\right\} \frac{\partial y_1}{\partial \lambda} + q(x)\frac{\partial y_2}{\partial \lambda} = y_1$$
$$- \left(\frac{\partial y_1}{\partial \lambda}\right)_{x_{\prime}} + \left\{r(x) - \lambda\right\} \frac{\partial y_2}{\partial \lambda} + q(x)\frac{\partial y_1}{\partial \lambda} = y_2$$

Multiplying the equations (1.1) and recent equations obtained above by $-\frac{\partial y_1}{\partial \lambda}$, $-\frac{\partial y_2}{\partial \lambda}$, y_1 and y_2 , respectively, adding them together and integrating with respect to x from 0 to π , we obtain

$$\left\{y_1(x,\lambda)\frac{\partial y_2}{\partial \lambda} - y_2(x,\lambda)\frac{\partial y_1}{\partial \lambda}\right\}\Big|_0^\pi = \int_0^\pi \left\{y_1^2(x,\lambda) + y_2^2(x,\lambda)\right\} dx.$$

Putting $\lambda = \lambda_0$, taking into account that

$$\frac{\partial \varphi_1^0(x,\lambda_0)}{\partial \lambda}\bigg|_{x=0} = \left.\frac{\partial \varphi_2^0(x,\lambda_0)}{\partial \lambda}\right|_{x=0} = 0$$

by (2.2), (2.3) and using the equality (2.4), we obtain the relation

$$\int_{0}^{\pi} \left[\left\{ \varphi_{1}^{0}(x,\lambda_{0}) \right\}^{2} + \left\{ \varphi_{2}^{0}(x,\lambda_{0}) \right\}^{2} \right] dx$$
$$= \varphi_{1}^{0}(\pi,\lambda) \frac{\partial \varphi_{2}^{0}(\pi,\lambda_{0})}{\partial \lambda} - \varphi_{2}^{0}(\pi,\lambda) \frac{\partial \varphi_{1}^{0}(\pi,\lambda_{0})}{\partial \lambda} = 0$$

Hence, $\varphi_1^0(x,\lambda_0) = \varphi_2^0(x,\lambda_0) \equiv 0$ or $\varphi^0(x,\lambda_0) \equiv 0$, which is impossible. The lemma is proved.

Lemma 2.6 The eigenvalues and normalizing constants of the problem L satisfy the asymptotic equalitys:

$$\lambda_n = n - \frac{\beta - \alpha}{\pi} + d_n, \ d_n \in l_2, \ 0 \le \alpha < \beta \le \pi$$
(2.5)

$$\alpha_n = \pi + \delta_n, \ \delta_n = \frac{k_n}{n} + \frac{\gamma_n}{n^2} \in l_2$$
(2.6)

Proof If the characteristic function of the L_0 problem is shown with $\Delta_0(\lambda)$ when $\Omega(x) = 0$, then it is clear that $\Delta_0(\lambda)$ provides the following equation:

$$\Delta_0 (\lambda) = -\sin\beta\cos\left(\xi(\pi,\lambda) - \alpha\right) - \cos\beta\sin\left(\xi(\pi,\lambda) - \alpha\right)$$
$$= -\sin\beta\cos\left(\lambda\pi - \alpha\right) - \cos\beta\sin\left(\lambda\pi - \alpha\right)$$
$$= -\sin\left(\lambda\pi + \beta - \alpha\right)$$

On the other hand, if the equations (2.2) and (2.3) are used in the equation $\Delta(\lambda) = -\sin\beta\varphi_1(\pi,\lambda) - \cos\beta\varphi_2(\pi,\lambda)$

$$\begin{split} \Delta\left(\lambda\right) &= -\sin\beta\cos\left(\xi(\pi,\lambda) - \alpha\right) - \cos\beta\sin\left(\xi(\pi,\lambda) - \alpha\right) \\ &- \sin\beta\int_{0}^{\pi}\left\{K_{11}(\pi,s)\cos\left(\lambda s - \alpha\right) + K_{12}(\pi,s)\sin\left(\lambda s - \alpha\right)\right\}ds \\ &- \cos\beta\int_{0}^{\pi}\left\{K_{21}(\pi,s)\cos\left(\lambda s - \alpha\right) - K_{22}(\pi,s)\sin\left(\lambda s - \alpha\right)\right\}ds \\ &= \Delta_{0}\left(\lambda\right) - \sin\beta\int_{0}^{\pi}\left\{K_{11}(\pi,s)\cos\left(\lambda s - \alpha\right) + K_{12}(\pi,s)\sin\left(\lambda s - \alpha\right)\right\}ds \\ &- \cos\beta\int_{0}^{\pi}\left\{K_{21}(\pi,s)\cos\left(\lambda s - \alpha\right) - K_{22}(\pi,s)\sin\left(\lambda s - \alpha\right)\right\}ds \end{split}$$

is obtained. Define $G_{\delta} = \{\lambda : |\lambda - \lambda_n^0| \ge \delta, n = 0, 1, 2, ...\}$, $\delta > 0$ and $\Gamma_n = \{\lambda : |\lambda| = |\lambda_n^0| + \delta, \delta > 0, n = 0, 1, 2, ...\}$. In this case, there is $C_{\delta} > 0$, which provides the inequality of $|\Delta_0(\lambda)| \ge C_{\delta} \exp |\operatorname{Im} \lambda| \pi$. Also in the sufficiently large values of λ , $|\Delta(\lambda) - \Delta_0(\lambda)| < \frac{C_{\delta}}{2} \exp |\operatorname{Im} \lambda| \pi$ and $|\Delta_0(\lambda)| \ge C_{\delta} \exp |\operatorname{Im} \lambda| \pi > \frac{C_{\delta}}{2} \exp |\operatorname{Im} \lambda| \pi > |\Delta(\lambda) - \Delta_0(\lambda)|$ inequalitys are provided. For sufficiently large nin Γ_n , the zeros of the functions $\Delta_0(\lambda)$ and $[\Delta(\lambda) - \Delta_0(\lambda)] + \Delta_0(\lambda) = \Delta(\lambda)$ are the same number. Therefore, for the sufficiently large values of n according to the Rouche theorem, the $\Delta(\lambda)$ function has only one zero in each of the circles $|\lambda - \lambda_n^0| < \delta$. Since δ is a sufficiently small positive number, $\lambda_n = \lambda_n^0 + d_n$ is obtained for d_n that satisfies $\lim_{n\to\infty} d_n = 0$. Since λ_n numbers are roots of the characteristic function $\Delta(\lambda)$

$$\begin{aligned} \Delta(\lambda_n) &= \Delta\left(\lambda_n^0 + d_n\right) \\ &= \Delta_0\left(\lambda_n^0 + d_n\right) - \sin\beta \int_0^{\pi} \left\{K_{11}(\pi, s)\cos\left(\left(\lambda_n^0 + d_n\right)s - \alpha\right) + K_{12}(\pi, s)\sin\left(\left(\lambda_n^0 + d_n\right)s - \alpha\right)\right\} ds \\ &- \cos\beta \int_0^{\pi} \left\{K_{21}(\pi, s)\cos\left(\left(\lambda_n^0 + d_n\right)s - \alpha\right) - K_{22}(\pi, s)\sin\left(\left(\lambda_n^0 + d_n\right)s - \alpha\right)\right\} ds = 0 \end{aligned}$$

is obtained. On the other hand, since $\Delta_0(\lambda_n^0) = 0$, $\lambda_n^0 = n - \frac{\beta - \alpha}{\pi}$ and

$$\Delta_0(\lambda_n) = \Delta_0(\lambda_n^0 + d_n) = \Delta_0(\lambda_n^0) + \dot{\Delta}_0(\lambda_n^0) d_n + \ddot{\Delta}_0(\lambda_n^0) \frac{d_n^2}{2} + \dots$$
$$= \dot{\Delta}_0(\lambda_n^0) d_n + o(d_n) = \left(\dot{\Delta}_0(\lambda_n^0) + o(1)\right) d_n$$

is written. In addition, since $\Delta_0(\lambda)$ is a "sine" type function [9], there is a number $\epsilon_{\delta} > 0$ for each $n \in \mathbb{N}$ such that $\left| \dot{\Delta}_0(\lambda_n^0) \right| \ge \epsilon_{\delta}$ is valid. The expression $\Delta_0(\lambda_n^0 + d_n)$ is replaced by $\Delta(\lambda_n)$ and if necessary arrangements are made

$$d_{n} = \frac{[K_{11}(\pi,\pi) + K_{21}(\pi,\pi)]\sin(\lambda_{n}^{0}\pi - \alpha) - [K_{12}(\pi,\pi) - K_{22}(\pi,\pi)]\cos(\lambda_{n}^{0}\pi - \alpha)}{\lambda_{n}^{0} \left\{ \dot{\Delta}_{0}(\lambda_{n}^{0}) - \int_{0}^{\pi} s\left(K_{11}(\pi,s) - K_{21}(\pi,s)\right)\sin(\lambda_{n}^{0}s - \alpha)\,ds + \int_{0}^{\pi} s\left(K_{12}(\pi,s) - K_{22}(\pi,s)\right)\cos(\lambda_{n}^{0}s - \alpha)\,ds \right\}} + \frac{\varepsilon_{n}}{\lambda_{n}^{0}} \in l_{2}$$

$$\varepsilon_{n} = -\int_{0}^{\pi} \left\{ \left(K_{11s}(\pi,s) + K_{21s}(\pi,s)\right)\sin(\lambda_{n}^{0}s - \alpha) - \left(K_{12s}(\pi,s) - K_{22s}(\pi,s)\right)\cos(\lambda_{n}^{0}s - \alpha) \right\} \,ds \in l_{2}.$$

obtained

Now, in the expression $\alpha_n = \int_0^n \left\{ \varphi_1^2(x,\lambda_n) + \varphi_2^2(x,\lambda_n) \right\} dx$, (2.2), (2.3) and $\lambda_n = \lambda_n^0 + d_n$ equations are

used and if necessary calculations are made $\alpha_n = \pi + \delta_n = \pi + \frac{k_n}{n} + \frac{\gamma_n}{n^2}$ obtained, where

$$\begin{aligned} k_{n} &= 2 \left\{ \int_{0}^{\pi} \cos\left(\xi(x,\lambda_{n}^{0}) - \alpha\right) \left[K_{11}(x,\pi) \sin\left(\lambda_{n}^{0}\pi - \alpha\right) - K_{22}(x,\pi) \cos\left(\lambda_{n}^{0}\pi - \alpha\right) \right] dx \\ &+ \int_{0}^{\pi} \sin\left(\xi(x,\lambda_{n}^{0}) - \alpha\right) \left[K_{21}(x,\pi) \cos\left(\lambda_{n}^{0}\pi - \alpha\right) - K_{22}(x,\pi) \sin\left(\lambda_{n}^{0}\pi - \alpha\right) \right] dx \\ &+ \delta_{n1} \int_{0}^{\pi} \cos\left(\xi(x,\lambda_{n}^{0}) - \alpha\right) dx + \delta_{n2} \int_{0}^{\pi} \sin\left(\xi(x,\lambda_{n}^{0}) - \alpha\right) dx \right\} \in l_{2}, \delta_{n1}, \delta_{n2} \in l_{2}. \end{aligned}$$

$$\begin{aligned} \gamma_{n} &= \int_{0}^{\pi} \left[K_{11}(x,\pi) \sin\left(\lambda_{n}^{0}\pi - \alpha\right) - K_{22}(x,\pi) \cos\left(\lambda_{n}^{0}\pi - \alpha\right) \right]^{2} dx \\ &+ \int_{0}^{\pi} \left[K_{21}(x,\pi) \cos\left(\lambda_{n}^{0}\pi - \alpha\right) - K_{22}(x,\pi) \sin\left(\lambda_{n}^{0}\pi - \alpha\right) \right]^{2} dx \\ &+ 2\delta_{n1} \int_{0}^{\pi} \left[K_{11}(x,\pi) \sin\left(\lambda_{n}^{0}\pi - \alpha\right) - K_{22}(x,\pi) \cos\left(\lambda_{n}^{0}\pi - \alpha\right) \right] dx \\ &+ 2\delta_{n2} \int_{0}^{\pi} \left[K_{21}(x,\pi) \cos\left(\lambda_{n}^{0}\pi - \alpha\right) - K_{22}(x,\pi) \sin\left(\lambda_{n}^{0}\pi - \alpha\right) \right] dx \\ &+ 2\delta_{n2} \int_{0}^{\pi} \left[K_{21}(x,\pi) \cos\left(\lambda_{n}^{0}\pi - \alpha\right) - K_{22}(x,\pi) \sin\left(\lambda_{n}^{0}\pi - \alpha\right) \right] dx \\ &+ 2\delta_{n2} \int_{0}^{\pi} \left[K_{21}(x,\pi) \cos\left(\lambda_{n}^{0}\pi - \alpha\right) - K_{22}(x,\pi) \sin\left(\lambda_{n}^{0}\pi - \alpha\right) \right] dx \\ &+ 2\delta_{n2} \int_{0}^{\pi} \left[K_{21}(x,\pi) \cos\left(\lambda_{n}^{0}\pi - \alpha\right) - K_{22}(x,\pi) \sin\left(\lambda_{n}^{0}\pi - \alpha\right) \right] dx \\ &+ 2\delta_{n2} \int_{0}^{\pi} \left[K_{21}(x,\pi) \cos\left(\lambda_{n}^{0}\pi - \alpha\right) - K_{22}(x,\pi) \sin\left(\lambda_{n}^{0}\pi - \alpha\right) \right] dx \\ &+ 2\delta_{n2} \int_{0}^{\pi} \left[K_{21}(x,\pi) \cos\left(\lambda_{n}^{0}\pi - \alpha\right) - K_{22}(x,\pi) \sin\left(\lambda_{n}^{0}\pi - \alpha\right) \right] dx \\ &+ 2\delta_{n2} \int_{0}^{\pi} \left[K_{21}(x,\pi) \cos\left(\lambda_{n}^{0}\pi - \alpha\right) - K_{22}(x,\pi) \sin\left(\lambda_{n}^{0}\pi - \alpha\right) \right] dx \\ &+ 2\delta_{n2} \int_{0}^{\pi} \left[K_{21}(x,\pi) \cos\left(\lambda_{n}^{0}\pi - \alpha\right) - K_{22}(x,\pi) \sin\left(\lambda_{n}^{0}\pi - \alpha\right) \right] dx \\ &+ 2\delta_{n2} \int_{0}^{\pi} \left[K_{21}(x,\pi) \cos\left(\lambda_{n}^{0}\pi - \alpha\right) - K_{22}(x,\pi) \sin\left(\lambda_{n}^{0}\pi - \alpha\right) \right] dx \\ &+ 2\delta_{n2} \int_{0}^{\pi} \left[K_{21}(x,\pi) \cos\left(\lambda_{n}^{0}\pi - \alpha\right) - K_{22}(x,\pi) \sin\left(\lambda_{n}^{0}\pi - \alpha\right) \right] dx \\ &+ 2\delta_{n2} \int_{0}^{\pi} \left[K_{21}(x,\pi) \cos\left(\lambda_{n}^{0}\pi - \alpha\right) - K_{22}(x,\pi) \sin\left(\lambda_{n}^{0}\pi - \alpha\right) \right] dx \\ &+ 2\delta_{n2} \int_{0}^{\pi} \left[K_{21}(x,\pi) \cos\left(\lambda_{n}^{0}\pi - \alpha\right) \right] dx \\ &+ \delta_{n1} \int_{0}^{\pi} \left[K_{21}(x,\pi) \cos\left(\lambda_{n}^{0}\pi - \alpha\right) \right] dx \\ &+ \delta_{n1} \int_{0}^{\pi} \left[K_{21}(x,\pi) \cos\left(\lambda_{n}^{0}\pi - \alpha\right) \right] dx \\ &+ \delta_{n1} \int_{0}^{\pi} \left[K_{21}(x,\pi) \cos\left(\lambda_{n}^{0}\pi - \alpha\right) \right] dx \\ &+ \delta_{n1} \int_{0}^{\pi} \left[K_{21}(x,\pi) \cos\left(\lambda_{n}^{$$

Assume that $\Phi(x,\lambda)$ is a solution of (1.1) which satisfies the conditions $U(\Phi) = 1$ and $V(\Phi) = 0$.

Let
$$C(x,\lambda) = \begin{pmatrix} C_1(x,\lambda) \\ C_2(x,\lambda) \end{pmatrix}$$
, $S(x,\lambda) = \begin{pmatrix} S_1(x,\lambda) \\ S_2(x,\lambda) \end{pmatrix}$ and $\Psi(x,\lambda) = \begin{pmatrix} \psi_1(x,\lambda) \\ \psi(x,\lambda) \end{pmatrix}$ denote solutions ratio (1.1) that satisfy the initial conditions $C(0,\lambda) = \begin{pmatrix} 1 \\ 0 \end{pmatrix}$, $S(0,\lambda) = \begin{pmatrix} 0 \\ 0 \end{pmatrix}$, $\Psi(\pi,\lambda) = \begin{pmatrix} \cos\beta \\ \cos\beta \end{pmatrix}$

of equation (1.1) that satisfy the initial conditions $C(0,\lambda) = \begin{pmatrix} 1\\0 \end{pmatrix}$, $S(0,\lambda) = \begin{pmatrix} 0\\1 \end{pmatrix}$, $\Psi(\pi,\lambda) = \begin{pmatrix} \cos \beta\\ -\sin \beta \end{pmatrix}$ respectively.

We set $M(\lambda) := \Phi_1(0, \lambda)$. The functions $\Phi(x, \lambda)$ and $M(\lambda)$ are called the Weyl solution and Weyl function of the boundary value problem L respectively.

It is obvious that

$$\Phi(x,\lambda) = -\frac{\Psi(x,\lambda)}{\Delta(\lambda)} = C(x,\lambda) + M(\lambda)\varphi(x,\lambda), \qquad (2.7)$$

$$\langle \Phi(x,\lambda), \varphi(x,\lambda) \rangle \equiv 1.$$
 (2.8)

We define the matrix $P(x,\lambda) = [P_{ij}(x,\lambda)]_{j,k=1,2}$ by the formula

$$P(x,\lambda) \begin{pmatrix} \tilde{\varphi}_1(x,\lambda) & \tilde{\Phi}_1(x,\lambda) \\ \tilde{\varphi}_2(x,\lambda) & \tilde{\Phi}_2(x,\lambda) \end{pmatrix} = \begin{pmatrix} \varphi_1(x,\lambda) & \Phi_1(x,\lambda) \\ \varphi_2(x,\lambda) & \Phi_2(x,\lambda) \end{pmatrix}.$$
(2.9)

Using (2.8) and (2.9), we get

$$\begin{cases}
P_{11}(x,\lambda) = \varphi_1(x,\lambda)\tilde{\Phi}_2(x,\lambda) - \Phi_1(x,\lambda)\tilde{\varphi}_2(x,\lambda) \\
P_{12}(x,\lambda) = \Phi_1(x,\lambda)\tilde{\varphi}_1(x,\lambda) - \varphi_1(x,\lambda)\tilde{\Phi}_1(x,\lambda) \\
P_{21}(x,\lambda) = \varphi_2(x,\lambda)\tilde{\Phi}_2(x,\lambda) - \Phi_2(x,\lambda)\tilde{\varphi}_2(x,\lambda) \\
P_{22}(x,\lambda) = \Phi_2(x,\lambda)\tilde{\varphi}_1(x,\lambda) - \varphi_2(x,\lambda)\tilde{\Phi}_1(x,\lambda)
\end{cases}$$
(2.10)

$$\begin{cases}
P_{11}(x,\lambda) \equiv 1, P_{12}(x,\lambda) \equiv 0, P_{21}(x,\lambda) \equiv 0, P_{22}(x,\lambda) \equiv 1 \\
|P_{11}(x,\lambda) - 1| \leq \frac{c_{\delta}}{|\rho|}, \quad |P_{12}(x,\lambda)| \leq \frac{c_{\delta}}{|\rho|}, \quad \rho \in G_{\delta}, \quad |\rho| \geq \rho^* \\
|P_{22}(x,\lambda) - 1| \leq \frac{c_{\delta}}{|\rho|}, \quad |P_{21}(x,\lambda)| \leq \frac{c_{\delta}}{|\rho|}, \quad \rho \in G_{\delta}, \quad |\rho| \geq \rho^*
\end{cases}$$
(2.11)

and

$$\begin{pmatrix}
\varphi_1(x,\lambda) &= P_{11}(x,\lambda)\tilde{\varphi}_1(x,\lambda) + P_{12}(x,\lambda)\tilde{\varphi}_2(x,\lambda) \\
\varphi_2(x,\lambda) &= P_{21}(x,\lambda)\tilde{\varphi}_1(x,\lambda) + P_{22}(x,\lambda)\tilde{\varphi}_2(x,\lambda) \\
\Phi_1(x,\lambda) &= P_{11}(x,\lambda)\tilde{\Phi}_1(x,\lambda) + P_{12}(x,\lambda)\tilde{\Phi}_2(x,\lambda) \\
\Phi'(x,\lambda) &= P_{21}(x,\lambda)\tilde{\Phi}_1(x,\lambda) + P_{22}(x,\lambda)\tilde{\Phi}_2(x,\lambda).
\end{cases}$$
(2.12)

3. The main equation of the inverse problem

In this section, we solve the inverse problem of recovering L from the given spectral data by using ideas of the contour integral method.

We denote that if $y(x,\lambda)$ and $z(x,\mu)$ are solutions of the equations $\ell y = \lambda y$ and $\ell z = \mu z$ separately, then

$$\frac{d}{dx} < y, z >= (\mu - \lambda)y^t z, \quad < y, z >:= y_1(x, \lambda)z_2(x, \mu) - y_2(x, \lambda)z_1(x, \mu).$$
(3.1)

Note

$$D(x,\lambda,\mu) := \frac{\langle \varphi(x,\lambda), \varphi(x,\mu) \rangle}{\mu - \lambda} = \int_{0}^{x} \varphi^{t}(t,\lambda)\varphi(t,\mu)dt.$$
(3.2)

Let us select a model boundary value problem \tilde{L} such that $\beta - \alpha = \tilde{\beta} - \tilde{\alpha}$, $d_n = \tilde{d}_n$. Let $\{\tilde{\lambda}_n, \tilde{\alpha}_n\}_{n \ge 0}$ be the spectral data of \tilde{L} .

Furthermore, let

$$\xi_n := \left| \lambda_n - \tilde{\lambda}_n \right| + \left| \alpha_n - \tilde{\alpha}_n \right|$$

It follows from (2.5) and (2.6) and analogous formulas for $\tilde{\delta}_n$ and $\tilde{\alpha}_n$ that

$$\Omega := \left(\sum_{n=0}^{\infty} \left[(n+1)\xi_n\right]^2\right)^{\frac{1}{2}} < \infty, \quad \sum_n \xi_n < \infty.$$
(3.3)

Denote that

$$\lambda_{n0} = \lambda_n, \ \lambda_{n1} = \tilde{\lambda}_n, \ \alpha_{n0} = \alpha_n, \ \alpha_{n1} = \tilde{\alpha}_n, \ \varphi_{ni}(x) = \varphi(x, \lambda_{ni})$$
$$\tilde{\varphi}_{ni}(x) = \tilde{\varphi}(x, \lambda_{ni}), \ P_{ni, \ j}(x) = \frac{1}{\alpha_{kj}} D(x, \lambda_{ni}, \lambda_{kj})$$
$$\tilde{P}_{ni,kj}(x) = \frac{1}{\alpha_{kj}} \tilde{D}(x, \lambda_{ni}, \lambda_{kj}), \ i, j \in \{0, 1\}, \ n, k \ge 0.$$
(3.4)

Then, according to (3.2),

$$P_{ni,kj}(x) = \frac{\langle \varphi_{ni}(x), \varphi_{kj}(x) \rangle}{\alpha_{kj}(\lambda_{kj} - \lambda_{ni})} = \frac{1}{\alpha_{kj}} \int_{0}^{x} \varphi_{ni}^{t}(t), \varphi_{kj}(t) dt$$

$$\tilde{P}_{ni,kj}(x) = \frac{\langle \tilde{\varphi}_{ni}(x), \tilde{\varphi}_{kj}(x) \rangle}{\alpha_{kj}(\lambda_{kj} - \lambda_{ni})} = \frac{1}{\alpha_{kj}} \int_{0}^{x} \tilde{\varphi}_{ni}^{t}(t), \tilde{\varphi}_{kj}(t) dt.$$
(3.5)

It is clear that

$$P'_{ni,kj}(x) = \frac{1}{\alpha_{kj}} \varphi^t_{ni}(x) \varphi_{kj}(x), \qquad \tilde{P}'_{ni,kj}(x) = \frac{1}{\alpha_{kj}} \tilde{\varphi}^t_{ni}(x) \tilde{\varphi}_{kj}(x)$$
(3.6)

Lemma 3.1 Let $f(\rho)$ be an analytic function for $|\rho - \rho^0| < a$ such that $f(\rho^0) = 0$ and $|f(\rho)| \leq A$. Then $|f(\rho)| \leq \frac{A}{a} |\rho - \rho^0|$ for $|\rho - \rho^0| < a$. **Proof** The proof of lemma is given in [4]

Lemma 3.2 The following estimates are valid for $x \in [0, \pi]$, $n, k \ge 0$, i, j, v = 0, 1;

$$\begin{aligned} |\varphi_{1ni}(x)| &\le c, \quad |\varphi_{2ni}(x)| \le c\\ \varphi_{1n0}(x) - \varphi_{1n1}(x)| &\le c\xi_n, \quad |\varphi_{2n0}(x) - \varphi_{2n1}(x)| \le c\xi_n \end{aligned}$$
(3.7)

$$|P_{ni,kj}(x)| \leq \frac{c}{|n-k|+1}$$

$$|P_{ni,k0}(x) - P_{ni,k1}(x)| \leq \frac{c\xi_k}{|n-k|+1}, \quad |P_{n0,kj}(x) - P_{n1,kj}(x)| \leq \frac{c\xi_n}{|n-k|+1}$$

$$|P_{n0,k0}(x) - P_{n1,k0}(x) - P_{n0,k1}(x) + P_{n1,k1}(x)| \leq \frac{c\xi_n\xi_k}{|n-k|+1}.$$
(3.8)

The similar estimates are also current for $\tilde{\varphi}_{ni}(x)$, $\tilde{P}_{ni,kj}(x)$.

Proof It follows from (2.1), (2.5), and (2.6) that $|\varphi_{ni}(x)| \leq c$.

Applying Schwarz's lemma in the ρ -plane to the function $f(\rho) := \varphi(x, \lambda) - \varphi(x, \lambda_{n1})$ with fixed n, xand a, we obtain

$$\begin{aligned} |\varphi_1(x,\lambda) - \varphi_1(x,\lambda_{n1})| &\leq c \left| \rho - \rho_{n1} \right|, \ \left| \rho - \rho_{n1} \right| \leq a \\ |\varphi_2(x,\lambda) - \varphi_2(x,\lambda_{n1})| &\leq c \left| \rho - \rho_{n1} \right|, \ \left| \rho - \rho_{n1} \right| \leq a \end{aligned}$$

As a result (3.7) is proved.

Let us show that

$$|D(x,\lambda,\lambda_{kj})| \le \frac{ce^{|\tau|x}}{|\rho \mp k| + 1}, \ \lambda = \rho^2, \ \mp \operatorname{Re} \rho \ge 0, \ \tau = \operatorname{Im} \rho, \ k \ge 0.$$
(3.9)

For definiteness, let $\sigma := \operatorname{Re} \rho \ge 0$. Get a fixed $\delta_0 > 0$. For $|\rho - \rho_{kj}| \ge \delta_0$, we have by helping of (3.2), (2.1) and (2.5),

$$\begin{split} |D(x,\lambda,\lambda_{kj})| &= \frac{|\langle \varphi(x,\lambda),\varphi(x,\lambda_{kj})\rangle|}{|\lambda-\lambda_{kj}|} \leq ce^{|\tau|x} \frac{|\rho|+|\rho_{kj}|}{|\rho^2-\rho_{kj}^2|}.\\ \text{Since } \frac{|\rho|+|\rho_{kj}|}{|\rho+\rho_{kj}|} \leq \frac{\sqrt{\sigma^2+\tau^2}+|\rho_{kj}|}{\sqrt{\sigma^2+\tau^2+\rho_{kj}^2}} \leq \sqrt{2}, \text{ we obtain}\\ |D(x,\lambda,\lambda_{kj})| \leq \frac{ce^{|\tau|x}}{|\rho-\rho_{kj}|}.\\ \frac{|\rho-k|+1}{|\rho-\rho_{kj}|} \leq \frac{|\rho_{kj}-k|+1}{|\rho-\rho_{kj}|} \leq c, \text{ and so } \frac{1}{|\rho-\rho_{kj}|} \leq \frac{c}{|\rho-k|+1}.\\ \text{Thus, this yields (3.9) for } |\rho-\rho_{kj}| \geq \delta_0. \text{ For } |\rho-\rho_{kj}| \leq \delta_0,\\ |D(x,\lambda,\lambda_{kj})| = \left|\int_0^x \varphi^t(t,\lambda)\varphi(t,\lambda_{kj})dt\right| \leq ce^{|\tau|x}, \end{split}$$

i.e. (3.9) is also valid for $|\rho - \rho_{kj}| \leq \delta_0$. Likewise it can be shown that

$$|D(x,\lambda,\mu)| \le \frac{ce^{|\tau|x}}{|\rho \mp \theta| + 1}, \ \mu = \theta^2, \ |\operatorname{Im} \theta| \le c_0, \ \mp \operatorname{Re} \rho \operatorname{Re} \theta \ge 0$$

Using Schwarz's lemma, we get

$$|D(x,\lambda,\lambda_{k1}) - D(x,\lambda,\lambda_{k0})| \le \frac{ce^{|\tau|x}\xi_k}{|\rho \mp k| + 1}, \mp \operatorname{Re} \rho \ge 0, k \ge 0.$$
(3.10)

Particularly, this yields

$$|D(x,\lambda_{ni},\lambda_{k1}) - D(x,\lambda_{ni},\lambda_{k0})| \le \frac{c\xi_k}{|n-k|+1}.$$

Symmetrically,

$$|D(x,\lambda_{n1},\lambda_{kj}) - D(x,\lambda_{n0},\lambda_{kj})| \le \frac{c\xi_n}{|n-k|+1}.$$

If we apply Schwarz's lemma to the function

$$Q_k(x,\lambda) := D(x,\lambda,\lambda_{k1}) - D(x,\lambda,\lambda_{k0})$$

for fixed k and x, we obtain

$$|D(x,\lambda_{n0},\lambda_{k0}) - D(x,\lambda_{n1},\lambda_{k0},) - D(x,\lambda_{n0},\lambda_{k1}) + D(x,\lambda_{n1},\lambda_{k1})| \le \frac{c\xi_n\xi_k}{|n-k|+1}.$$

These approximates together with (3.4), (3.6), (2.5) and (2.6) suggest (3.8).

AMİROV and ARSLANTAŞ/Turk J Math

Lemma 3.3 The following relations hold

$$\tilde{\varphi}(x,\lambda) = \varphi(x,\lambda) + \sum_{k=0}^{\infty} \left(\frac{\langle \tilde{\varphi}(x,\lambda), \tilde{\varphi}_{k0}(x) \rangle}{\alpha_{k0}(\lambda_{k0}-\lambda)} \varphi_{k0}(x) - \frac{\langle \tilde{\varphi}(x,\lambda), \tilde{\varphi}_{k1}(x) \rangle}{\alpha_{k1}(\lambda_{k1}-\lambda)} \varphi_{k1}(x) \right)$$
(3.11)

$$\frac{\langle \varphi(x,\lambda), \varphi(x,\mu) \rangle}{\mu - \lambda} - \frac{\langle \tilde{\varphi}(x,\lambda), \tilde{\varphi}(x,\mu) \rangle}{\mu - \lambda} + \sum_{k=0}^{\infty} \left\{ \frac{\langle \tilde{\varphi}(x,\lambda), \tilde{\varphi}_{k0}(x) \rangle}{\alpha_{k0}(\lambda_{k0} - \lambda)} \frac{\langle \varphi_{k0}(x), \varphi(x,\mu) \rangle}{\mu - \lambda_{k0}} - \frac{\langle \tilde{\varphi}(x,\lambda), \tilde{\varphi}_{k1}(x) \rangle}{\alpha_{k1}(\lambda_{k1} - \lambda)} \frac{\langle \varphi_{k1}(x), \varphi(x,\mu) \rangle}{\mu - \lambda_{k1}} \right\} = 0$$
(3.12)

Proof 1) Denote $\lambda' = \min_{ni} \lambda_{ni}$ and take a fixed $\delta > 0$. In the λ -plane we regard closed contours $\gamma_N = \gamma_N^+ \cup \gamma_N^- \cup \gamma' \cup \Gamma_N'$, as shown in Figure.

Where

$$\gamma_{N}^{\pm} = \left\{ \lambda : \pm \operatorname{Im} \lambda = \delta, \operatorname{Re} \lambda \ge \lambda', |\lambda| \le \left(N + \frac{1}{2}\right)^{2} \right\}$$
$$\gamma' = \left\{ \lambda : \lambda - \lambda' = \delta e^{i\alpha}, \alpha \in \left(\frac{\pi}{2}, \frac{3\pi}{2}\right) \right\}$$
$$\Gamma_{N}' = \Gamma_{N} \cap \left\{ \lambda : |\operatorname{Im} \lambda| \le \delta, \operatorname{Re} \lambda > 0 \right\}, \Gamma_{N} = \left\{ \lambda : |\lambda| = \left(N + \frac{1}{2}\right)^{2} \right\}$$

Figure 1. The curves γ_N and γ_N^0 .

Denote $\gamma_N^0 = \gamma_N^+ \cup \gamma_N^- \cup \gamma' \cup (\Gamma_N \setminus \Gamma'_N)$ (with clockwise circuit), as shown in Figure. Let $P(x,\lambda) = [P_{jk}(x,\lambda)]_{j,k=1,2}$ be the matrix determined by (2.9). It follows from (2.7) and (2.10) that for each fixed x, the functions $P_{jk}(x,\lambda)$ are meromorphic in λ with simple poles $\{\lambda_n\}$ and $\{\tilde{\lambda}_n\}$. By Cauchy's integral formula,

$$P_1(x,k) - \delta_{1k} = \frac{1}{2\pi i} \int_{\gamma_N^0} \frac{P_{1k}(x,\xi) - \delta_{1k}}{\lambda - \xi} d\xi, k = 1, 2, \cdots$$

where $\lambda \in int(\gamma_N^0)$ and δ_{jk} is the Kronecker delta. Therefore,

$$P_{1}(x,k) - \delta_{1k} = \frac{1}{2\pi i} \int_{\gamma_{N}} \frac{P_{1k}(x,\xi)}{\lambda - \xi} d\xi - \frac{1}{2\pi i} \int_{\Gamma_{N}} \frac{P_{1k}(x,\xi) - \delta_{1k}}{\lambda - \xi} d\xi,$$

where Γ_N is used with counterclockwise circuit. Substituting in to (2.12) we get

$$\varphi_1(x,\lambda) = \tilde{\varphi}_1(x,\lambda) + \frac{1}{2\pi i} \int_{\gamma_N} \frac{\tilde{\varphi}_1(x,\lambda) P_{11}(x,\xi) + \tilde{\varphi}_2(x,\lambda) P_{12}(x,\xi)}{\lambda - \xi} d\xi + \varepsilon_N(x,\lambda)$$

where

$$\varepsilon_N(x,\lambda) = -\frac{1}{2\pi i} \int_{\Gamma_N} \frac{\tilde{\varphi}_1(x,\lambda) \left(P_{11}(x,\xi) - 1\right) + \tilde{\varphi}_2(x,\lambda) P_{12}(x,\xi)}{\lambda - \xi} d\xi.$$

By helping of. (2.11),

$$\lim_{N \to \infty} \varepsilon_N(x, \lambda) = 0 \tag{3.13}$$

uniformly with respect to $x \in [0, \pi]$ and λ on compact sets.

If we consider (2.10) into account we calculate

$$\begin{split} \varphi_1(x,\lambda) &= \quad \tilde{\varphi}_1(x,\lambda) + \frac{1}{2\pi i} \int\limits_{\gamma_N} \left\{ \tilde{\varphi}_1(x,\lambda) \left[\varphi_1(x,\xi) \tilde{\Phi}_2(x,\xi) - \tilde{\Phi}_1(x,\xi) \tilde{\varphi}_2(x,\xi) \right] \right. \\ &+ \tilde{\varphi}_2(x,\lambda) \left[\Phi_1(x,\xi) \tilde{\varphi}_1(x,\xi) - \varphi_1(x,\xi) \tilde{\Phi}_1(x,\xi) \right] \right\} \frac{d\xi}{\lambda - \xi} + \varepsilon_N(x,\lambda). \end{split}$$

In view of (2.7), this supplies

$$\tilde{\varphi}_1(x,\lambda) = \varphi_1(x,\lambda) + \frac{1}{2\pi i} \int_{\gamma_N} \frac{\langle \tilde{\varphi}(x,\lambda), \tilde{\varphi}(x,\xi) \rangle}{\xi - \lambda} \hat{M}(\xi) \varphi_1(x,\xi) d\xi + \varepsilon_N(x,\lambda),$$
(3.14)

where $\hat{M}(\lambda) = M(\lambda) - \tilde{M}(\lambda)$, since the terms with $C(x,\xi)$ vanish by Cauchy's theorem.

It follows from

$$\operatorname{Re}_{\lambda=\lambda_n} sM(\lambda) = -\frac{\Delta^0(\lambda_n)}{\dot{\Delta}(\lambda_n)} = -\frac{\beta_n}{\dot{\Delta}(\lambda_n)} = \frac{1}{\alpha_n}$$
(3.15)

that

$$\operatorname{Re}_{\xi=\lambda_{kj}} \frac{<\tilde{\varphi}(x,\lambda), \tilde{\varphi}(x,\xi)>}{\xi-\lambda} \hat{M}\left(\xi\right) \varphi_1(x,\xi) = \frac{<\tilde{\varphi}(x,\lambda), \tilde{\varphi}_{kj}(x)>}{\alpha_{kj}(\lambda_{kj}-\lambda)} \varphi_{1kj}(x).$$

Calculating the integral in (3.14) by the residue theorem and using (3.13) we get (3.11).

2) Since
$$\frac{1}{\mu - \lambda} \left(\frac{1}{\mu - \xi} - \frac{1}{\lambda - \xi} \right) = \frac{1}{(\lambda - \xi)(\xi - \mu)}$$
, we have by Cauchy's integ-

ral formula

$$\frac{P_{jk}(x,\lambda) - P_{jk}(x,\mu)}{\mu - \lambda} = \frac{1}{2\pi i} \int_{\gamma_N^0} \frac{P_{jk}(x,\xi)}{(\lambda - \xi) \left(\xi - \mu\right)} d\xi, k, j = 1, 2, \lambda, \mu \in int\left(\gamma_N^0\right).$$

Considering in the same way as above and using (2.11), we get

$$\frac{P_{jk}(x,\lambda) - P_{jk}(x,\mu)}{\mu - \lambda} = \frac{1}{2\pi i} \int_{\gamma_N} \frac{P_{jk}(x,\xi)}{(\lambda - \xi) \left(\xi - \mu\right)} d\xi + \varepsilon_{N_{jk}}(x,\lambda,\mu)$$
(3.16)

where $\lim_{n\to\infty} \varepsilon_{N_{jk}}(x,\lambda,\mu) = 0$ $j,k = \overline{1,n}$. From (2.11) and (2.8), it follows that

$$\left.\begin{array}{l}
P_{11}(x,\lambda)\varphi_{2}(x,\lambda) - P_{21}(x,\lambda)\varphi_{1}(x,\lambda) &= \tilde{\varphi}_{2}(x,\lambda)\\
P_{22}(x,\lambda)\varphi_{1}(x,\lambda) - P_{12}(x,\lambda)\varphi_{2}(x,\lambda) &= \tilde{\varphi}_{1}(x,\lambda)
\end{array}\right\}$$
(3.17)

$$P(x,\lambda) \begin{bmatrix} y(x) \\ y'(x) \end{bmatrix} = \langle y(x), \tilde{\Phi}(x,\lambda) \rangle \begin{bmatrix} \varphi_1(x,\lambda) \\ \varphi_2(x,\lambda) \end{bmatrix}$$

$$- \langle y(x), \tilde{\varphi}(x,\lambda) \rangle \begin{bmatrix} \Phi_1(x,\lambda) \\ \Phi_2(x,\lambda) \end{bmatrix}$$
(3.18)

for any $y(x) \in C^1[0,1]$.

If we consider (3.16) and (3.18) into account, we calculate

$$\frac{P_{jk}(x,\lambda) - P_{jk}(x,\mu)}{\mu - \lambda} \begin{bmatrix} y(x) \\ y'(x) \end{bmatrix} \\
= \frac{1}{2\pi i} \int_{\gamma_N} \left\{ \langle y(x), \tilde{\Phi}(x,\xi) \rangle \begin{bmatrix} \varphi_1(x,\xi) \\ \varphi_2(x,\xi) \end{bmatrix} \right\} \\
- \langle y(x), \tilde{\varphi}(x,\xi) \rangle \begin{bmatrix} \Phi_1(x,\xi) \\ \Phi_2(x,\xi) \end{bmatrix} \left\{ \frac{d\xi}{(\lambda - \xi)(\xi - \mu)} + \varepsilon_N^0(x,\lambda,\mu), \lim_{N \to \infty} \varepsilon_N^0(x,\lambda,\mu) = 0.$$
(3.19)

According to (2.9),
$$P(x,\lambda) \begin{bmatrix} \tilde{\varphi}_1(x,\lambda) \\ \tilde{\varphi}_2(x,\lambda) \end{bmatrix} = \begin{bmatrix} \varphi_1(x,\lambda) \\ \varphi_2(x,\lambda) \end{bmatrix}$$
. Thus,

$$\det \left(P(x,\lambda) \begin{bmatrix} \tilde{\varphi}_1(x,\lambda) \\ \tilde{\varphi}_2(x,\lambda) \end{bmatrix}, \begin{bmatrix} \varphi_1(x,\mu) \\ \varphi_2(x,\mu) \end{bmatrix} \right) = \langle \varphi(x,\lambda), \varphi(x,\mu) \rangle.$$

Moreover, using (3.17) we obtain

$$\det\left(P(x,\mu)\left[\begin{array}{c}\tilde{\varphi}_{1}\left(x,\lambda\right)\\\tilde{\varphi}_{2}(x,\lambda)\end{array}\right],\left[\begin{array}{c}\varphi_{1}\left(x,\mu\right)\\\varphi_{2}(x,\mu)\end{array}\right]\right)=<\tilde{\varphi}(x,\lambda),\tilde{\varphi}(x,\mu)>.$$

So,

$$\det \left((P(x,\lambda) - P(x,\mu)) \begin{bmatrix} \tilde{\varphi}_1(x,\lambda) \\ \tilde{\varphi}_2(x,\lambda) \end{bmatrix}, \begin{bmatrix} \varphi_1(x,\mu) \\ \varphi_2(x,\mu) \end{bmatrix} \right) \\ = <\varphi(x,\lambda), \varphi(x,\mu) > - <\tilde{\varphi}(x,\lambda), \tilde{\varphi}(x,\mu) > .$$

As a result, (3.19) for $y(x) = \tilde{\varphi}(x, \lambda)$ supplies

$$\begin{split} & \frac{\langle \varphi(x,\lambda),\varphi(x,\mu) \rangle}{\mu-\lambda} - \frac{\langle \tilde{\varphi}(x,\lambda),\tilde{\varphi}(x,\mu) \rangle}{\mu-\lambda} \\ & = \frac{1}{2\pi i} \int\limits_{\gamma_N} \left\{ \frac{\langle \tilde{\varphi}(x,\lambda),\tilde{\Phi}(x,\xi) \rangle \langle \varphi(x,\xi),\varphi(x,\mu) \rangle}{(\lambda-\xi)\left(\xi-\mu\right)} \\ & - \frac{\langle \tilde{\varphi}(x,\lambda),\tilde{\varphi}(x,\xi) \rangle \langle \Phi(x,\xi),\varphi(x,\mu) \rangle}{(\lambda-\xi)\left(\xi-\mu\right)} \right\} d\xi \\ & + \varepsilon'_N(x,\lambda,\mu), \quad \lim_{N \to \infty} \varepsilon'_N(x,\lambda,\mu) = 0. \end{split}$$

By virtue of (2.7), (3.15) and residue theorem, we obtain (3.12).

Similarly, it can be obtained the following relation

$$\tilde{\Phi}_{1}(x,\lambda) = \Phi_{1}(x,\lambda)
+ \sum_{k=0}^{\infty} \left(\frac{\langle \tilde{\Phi}(x,\lambda), \tilde{\varphi}_{k0}(x) \rangle}{\alpha_{k0}(\lambda_{k0}-\lambda)} \varphi_{1k0}(x) - \frac{\langle \tilde{\Phi}(x,\lambda), \tilde{\varphi}_{k1}(x) \rangle}{\alpha_{k1}(\lambda_{k1}-\lambda)} \varphi_{1k1}(x) \right).$$
(3.20)

It follows from the definition of $\tilde{P}_{ni,kj}\left(x\right)$, $P_{ni,kj}\left(x\right)$ and (3.11), (3.12) that

$$\tilde{\varphi}_{ni}(x) = \varphi_{ni}(x) + \sum_{k=0}^{\infty} (\tilde{P}_{ni,k0}(x) \,\varphi_{k0}(x) - \tilde{P}_{ni,k1}(x) \,\varphi_{k1}(x))$$
(3.21)

$$P_{ni,lj}(x) - \tilde{P}_{ni,lj}(x) + \sum_{k=0}^{\infty} \left(\tilde{P}_{ni,k0}(x) P_{k0,lj}(x) - \tilde{P}_{ni,k1}(x) P_{k1,lj}(x) \right) = 0.$$
(3.22)

Denote

$$\varepsilon_0(x) := \sum_{k=0}^{\infty} \left(\frac{1}{\alpha_{k0}} \tilde{\varphi}_{k0}(x) \varphi_{k0}^t(x) - \frac{1}{\alpha_{k1}} \tilde{\varphi}_{k1}(x) \varphi_{k1}^t(x) \right).$$
(3.23)

Lemma 3.4 The serie in (3.23) converges absolutely and uniformly on $[0, \pi]$. The function $\varepsilon_0(x)$ is absolutely continuous.

Proof We can write $\varepsilon_0(x)$ to the form

$$\varepsilon_0(x) = A_1(x) + A_2(x)$$
 (3.24)

where

$$\begin{cases}
A_1(x) = \sum_{k=0}^{\infty} \left(\frac{1}{\alpha_{k0}} - \frac{1}{\alpha_{k1}} \right) \tilde{\varphi}_{k0}(x) \varphi_{k0}^t(x) \\
A_2(x) = \sum_{k=0}^{\infty} \frac{1}{\alpha_{k1}} \left\{ \left(\tilde{\varphi}_{k0}(x) - \tilde{\varphi}_{k1}(x) \right) \varphi_{k0}^t(x) + \tilde{\varphi}_{k1}(x) \left(\varphi_{k0}^t(x) - \varphi_{k1}^t(x) \right) \right\}.
\end{cases}$$
(3.25)

It follows from (2.5), (2.6), (3.3) and (3.7) that the series in (3.25) converge absolutely and uniformly on $[0, \pi]$ and

$$|A_j(x)| \le c \sum_{k=0}^{\infty} \xi_k \le c\Lambda, \ j = 1, 2.$$
(3.26)

Lemma 3.5 The following relation holds

$$\Omega(x) = \tilde{\Omega}(x) + \Upsilon(x) \tag{3.27}$$

.

where $\Upsilon(x) = \begin{pmatrix} \Upsilon_0(x) & \Upsilon_1(x) \\ \Upsilon_1(x) & \Upsilon_2(x) \end{pmatrix}$,

$$\Upsilon_0(x) = 2\sum_{k=0}^{\infty} \left\{ \frac{1}{\alpha_{k0}} \tilde{\varphi}_{2k0}(x) \varphi_{1k0}(x) - \frac{1}{\alpha_{k1}} \tilde{\varphi}_{2k1}(x) \varphi_{1k1}(x) \right\}$$

$$\begin{split} \Upsilon_{1}(x) &= -\sum_{k=0}^{\infty} \left\{ \frac{1}{\alpha_{k0}} \left(\tilde{\varphi}_{1k0}(x) \varphi_{1k0}(x) - \tilde{\varphi}_{2k0}(x) \varphi_{2k0}(x) \right) \\ &- \frac{1}{\alpha_{k1}} \left(\tilde{\varphi}_{1k1}(x) \varphi_{1k1}(x) - \tilde{\varphi}_{2k1}(x) \varphi_{2k1}(x) \right) \right\} \\ \Upsilon_{2}(x) &= -2\sum_{k=0}^{\infty} \left\{ \frac{1}{\alpha_{k0}} \tilde{\varphi}_{1k0}(x) \varphi_{2k0}(x) - \frac{1}{\alpha_{k1}} \tilde{\varphi}_{1k1}(x) \varphi_{2k1}(x) \right\} \end{split}$$

Proof If we differentiate (3.11) twice with respect to x and use (3.1), (3.23), we obtain

$$\tilde{\varphi}'(x,\lambda) - \varepsilon_0(x)\tilde{\varphi}(x,\lambda) = \varphi'(x,\lambda) + \sum_{k=0}^{\infty} \left(\frac{\langle \tilde{\varphi}(x,\lambda), \tilde{\varphi}_{k0}(x) \rangle}{\alpha_{k0}(\lambda_{k0}-\lambda)} \varphi'_{k0}(x) - \frac{\langle \tilde{\varphi}(x,\lambda), \tilde{\varphi}_{k1}(x) \rangle}{\alpha_{k1}(\lambda_{k1}-\lambda)} \varphi'_{k1}(x) \right)$$
(3.28)

If we replace $\varphi'(x,\lambda)$, $\tilde{\varphi}'(x,\lambda)$, $\varphi'_{k0}(x)$ and $\varphi'_{k1}(x)$ by using equation (1.1) and then replace $\varphi(x,\lambda)$ using equation (3.11) then

$$\begin{split} & \left(\tilde{p}\left(x\right) - p(x)\right)\tilde{\varphi}_{1}\left(x,\lambda\right) + \left(\tilde{q}\left(x\right) - q(x)\right)\tilde{\varphi}_{2}(x,\lambda) \\ & + \Upsilon_{0}\left(x\right)\tilde{\varphi}_{1}\left(x,\lambda\right) + \Upsilon_{1}\left(x\right)\tilde{\varphi}_{2}\left(x,\lambda\right) \equiv 0, \forall\lambda \\ & \left(\tilde{q}\left(x\right) - q(x)\right)\tilde{\varphi}_{1}\left(x,\lambda\right) + \left(\tilde{r}\left(x\right) - r(x)\right)\tilde{\varphi}_{2}(x,\lambda) \\ & + \Upsilon_{1}\left(x\right)\tilde{\varphi}_{1}\left(x,\lambda\right) + \Upsilon_{2}\left(x\right)\tilde{\varphi}_{2}\left(x,\lambda\right) \equiv 0, \forall\lambda \\ & \left(\begin{array}{cc} \tilde{p}\left(x\right) & \tilde{q}\left(x\right) \\ \tilde{q}\left(x\right) & \tilde{r}\left(x\right) \end{array}\right) - \left(\begin{array}{cc} p\left(x\right) & q\left(x\right) \\ q\left(x\right) & r\left(x\right) \end{array}\right) + \left(\begin{array}{cc} \Upsilon_{0}(x) & \Upsilon_{1}(x) \\ \Upsilon_{1}(x) & \Upsilon_{2}(x) \end{array}\right) = 0 \\ & \Omega(x) = \tilde{\Omega}(x) + \Upsilon(x). \end{split}$$

Remark 3.1. For each fixed $x \in [0, \pi]$ the equation (3.21) can be considered as a system of linear equations with respect to $\varphi_{ni}(x)$ $n \ge 0$, i = 0, 1. However, the series in (3.21) converges only "with brackets". Hence, it is not appropriate to use (3.21) as a main equation of the inverse problem. Below we will convert (3.21) to a linear equation in a corresponding Banach space of sequences.

Let T be a set of indices $u = (n, i), n \ge 0, i = 0, 1$. For each fixed $x \in [0, \pi]$, we define the vector

$$\Psi(x) = \left[\Psi_u(x)\right]_{u \in T} = \left[\begin{array}{cc} \Psi_{1n0}(x) & \Psi_{2n0}(x) \\ \Psi_{1n1}(x) & \Psi_{2n1}(x) \end{array}\right]_{n \ge 0}$$

by the formula

$$\begin{bmatrix} \Psi_{1n0}(x) & \Psi_{2n0}(x) \\ \Psi_{1n1}(x) & \Psi_{2n1}(x) \end{bmatrix} = \begin{bmatrix} \chi_n & -\chi_n \\ 0 & 1 \end{bmatrix} \begin{bmatrix} \varphi_{1n0}(x) & \varphi_{2n0}(x) \\ \varphi_{1n1}(x) & \varphi_{2n1}(x) \end{bmatrix}$$
$$= \begin{bmatrix} \chi_n \left(\varphi_{1n0}(x) - \varphi_{1n1}(x)\right) & \chi_n \left(\varphi_{2n0}(x) - \varphi_{2n1}(x)\right) \\ \varphi_{1n1}(x) & \varphi_{2n1}(x) \end{bmatrix}$$
$$\chi_n = \begin{cases} \xi_n^{-1} & \xi_n \neq 0 \\ 0 & \xi_n = 0 \end{cases}.$$

We also define the block matrix

$$H(x) = [H_{u,v}(x)]_{u,v \in V} = \begin{bmatrix} H_{n0,k0}(x) & H_{n0,k1}(x) \\ H_{n1,k0}(x) & H_{n1,k1}(x) \end{bmatrix}_{n,k \ge 0}, \quad u = (n,i), v = (k,j)$$

by the formula

$$\begin{bmatrix} H_{n0,k0}(x) & H_{n0,k1}(x) \\ H_{n1,k0}(x) & H_{n1,k1}(x) \end{bmatrix} = \begin{bmatrix} \chi_n & -\chi_n \\ 0 & 1 \end{bmatrix} \begin{bmatrix} P_{n0,k0}(x) & P_{n0,k1}(x) \\ P_{n1,k0}(x) & P_{n1,k1}(x) \end{bmatrix} \begin{bmatrix} \xi_k & 1 \\ 0 & -1 \end{bmatrix}$$
$$\begin{bmatrix} \xi_k \chi_n \left(P_{n0,k0}(x) - P_{n1,k0}(x) \right) & \chi_n \left(P_{n0,k0}(x) - P_{n0,k1}(x) - P_{n1,k0}(x) + P_{n1,k1}(x) \right) \\ \xi_k P_{n1,k0}(x) & P_{n1,k0}(x) - P_{n1,k1}(x) \end{bmatrix}.$$

Analogously we define $\tilde{\Psi}(x)$, $\tilde{H}(x)$ by replacing in the former descriptions $\varphi_{ni}(x)$ by $\tilde{\varphi}_{ni}(x)$ and $P_{ni,kj}(x)$ by $\tilde{P}_{ni,kj}(x)$. It follows from (3.7) and (3.8) that

$$|\Psi_{ni}(x)| \le c, \quad |H_{ni,kj}(x)| \le \frac{c\xi_k}{|n-k|+1}$$
(3.29)

Similarly,

$$\left|\tilde{\Psi}_{ni}\left(x\right)\right| \le c, \quad \left|\tilde{H}_{ni,kj}\left(x\right)\right| \le \frac{c\xi_k}{|n-k|+1} \tag{3.30}$$

and also

$$\left|\tilde{H}_{ni,kj}(x) - \tilde{H}_{ni,kj}(x_0)\right| \le c \left|x - x_0\right| \xi_k, \ x, \ x_0 \in [0,\pi]$$
(3.31)

where c does not depend on x, x_0, n, i, j and k.

Let us consider the Banach space m of bounded sequences $\alpha = [\alpha_u]_{u \in T}$ with the norm $\|\alpha\|_m = \sup_{u \in T} |\alpha_u|$. It follows from (3.29) and (3.30) that for each fixed $x \in [0, \pi]$, the operators $E + \tilde{H}(x)$ and E - H(x) such that E is the identity operator mapping from m to m, are linear bounded operators and

$$||H(x)||, ||\tilde{H}(x)|| \le c \sup_{n} \sum_{k} \frac{\xi_k}{|n-k|+1} < \infty.$$
 (3.32)

Theorem 3.6 In the Banach space m, the vector $\Psi(x) \in m$ satisfies the equation

$$\tilde{\Psi}(x) = \left(E + \tilde{H}(x)\right)\Psi(x) \tag{3.33}$$

for each fixed $x \in [0,\pi]$. Furthermore, the operator $E + \tilde{H}(x)$ has a bounded inverse operator, i.e. equation (3.33) is uniquely solvable.

Proof We can write (3.21) in the form

$$\begin{split} \tilde{\varphi}_{n0}(x) &- \tilde{\varphi}_{n1}(x) &= \varphi_{n0}(x) - \varphi_{n1}(x) \\ &+ \sum_{k=0}^{\infty} \left\{ \left(\tilde{P}_{n0,k0}(x) - \tilde{P}_{n1,k0}(x) \right) \left(\varphi_{k0}(x) - \varphi_{k1}(x) \right) \right. \\ &+ \left(\tilde{P}_{n0,k0}(x) - \tilde{P}_{n1,k0}(x) - \tilde{P}_{n0,k1}(x) + \tilde{P}_{n1,k1}(x) \right) \varphi_{k1}(x) \right\}, \\ \tilde{\varphi}_{n1}(x) &= \varphi_{n1}(x) + \sum_{k=0}^{\infty} \left\{ \tilde{P}_{n1,k0}(x) \left(\varphi_{k0}(x) - \varphi_{k1}(x) \right) + \left(\tilde{P}_{n1,k0}(x) - \tilde{P}_{n1,k1}(x) \right) \varphi_{k1}(x) \right\}. \end{split}$$

Considering our notations, we get

$$\tilde{\Psi}_{ni}(x) = \Psi_{ni}(x) + \sum_{k,j} \tilde{H}_{ni,kj}(x) \Psi_{kj}(x), \ (n,i), \ (k,j) \in T$$
(3.34)

which is equivalent to (3.33). The series in (3.34) converges absolutely and uniformly for $x \in [0, \pi]$. Analogously, (3.22) takes the form

$$H_{ni,kj}(x) - \tilde{H}_{ni,kj}(x) + \sum_{l,s} \tilde{H}_{ni,ls}(x) H_{ls,kj}(x) = 0, \ (n,i), \ (k,j), \ (l,s) \in T$$

or

$$\left(E + \tilde{H}(x)\right)\left(E - H(x)\right) = E.$$

Replacing for L and \tilde{L} , similarly, we get

$$\Psi(x) = (E - H(x))\tilde{\Psi}(x), \quad (E - H(x))\left(E + \tilde{H}(x)\right) = E.$$

Therefore, the operator $\left(E + \tilde{H}(x)\right)^{-1}$ exists and it is a linear bounded operator.

Equation (3.33) is called the main equation of the inverse problem. Solving (3.33), we find the vector $\Psi(x)$ and as a result, the functions $\varphi_{ni}(x)$. we can construct the function $\Omega(x)$ due to $\varphi_{ni}(x) = \varphi(x, \lambda_{ni})$ are the solutions of (1.1). So, we get the following algorithm for the solution of inverse problem.

Algorithm. Given the numbers $\{\lambda_n, \alpha_n\}_{n>0}$.

- 1. Select \tilde{L} such that $\beta \alpha = \tilde{\beta} \tilde{\alpha}$, $d_n = \tilde{d}_n$ and construct $\tilde{\Psi}(x)$, $\tilde{H}(x)$.
- 2. Find $\Psi(x)$ by solving equation (3.33).
- 3. Calculate $\Omega(x)$ by (3.27).

References

- Abdukadyrov E. Computation of the regularized trace for a Dirac system. Vestnik Moskov Univercity Serial Mathematics and Mechanics 1967; 22 (4): 17-24.
- [2] Amirov RKh. On a system of Dirac differential equations with discontinuity conditions inside an interval. Ukrainian Mathematical Journal 2005; 57 (5): 712-727.
- [3] Evans WD, Harris BJ. Bounds for the point spectra of separated Dirac operators. Proceeding Royal Society 1981; 88 (1): 1-15.
- [4] Freiling G, Yurko VA. Inverse Sturm-Liouville Problems and Their Applications. New York, NY, USA: Nova Science, 2001.
- [5] Gasymov MG, Levitan BM. The inverse problem for the Dirac system. Doklady Akademy Nauk SSSR 1966; 167 (6): 967-970.
- [6] Gasymov MG. The inverse scattering problem for a system of Dirac equations of order 2n. Doklady Akademy Nauk SSR 1966; 167 (6): 1219-1222.
- [7] Gasymov MG, Dzhabiev TT. On the determination of the Dirac system from two spectra. In: Transactions Of The Summer School On Spectral Theory Operator; Baku, Azerbaijan; 1975. pp. 46-71.
- [8] Khasanov AB. On eigenvalues of the Dirac operator located on the continuous spectrum theory of mathematical physics. Theoretical and Mathematical Physics 1994; 99 (1): 20-26.
- [9] Levin BYA. Lectures On Entire Functions. Providence, RI, USA: American Mathematical Society, 1996.
- [10] Levitan BM, Sargsjan IS. Sturm-Liouville and Dirac Operators. Dordrecht, Holland: Kluwer Academic Publishers Group, 1991.
- [11] Maksudov FG, Veliev SG. The inverse scattering problem for the nonselfadjoint Dirac operator on the whole axis. Doklady Akademy Nauk SSSR 1975; 225 (6): 1263-1266.
- [12] Marchenko VA. Some problems in the theory of second-order differential operators. Doklady Akademy Nauk SSSR 1950; 72: 457-560.
- [13] Nauamura G, Tsuchidat T. Uniqueness for an inverse boundary value problem for Dirac operators. Community Partial Differential Equaitons 2000; 25 (7): 557-577. doi: 10.1080/03605300008821551
- [14] Otelbayev MO. Distribution of the eigenvalues of the Dirac operator. Mathematic Zametki 1973; 14 (6): 843-852.
- [15] Ozkan AS, Amirov RKh. An interior inverse problem for the impulsive Dirac operator. Tamkang Journal of Mathematics 2011; 42 (3): 259-263.
- [16] Panakhov ES. Determination of a Dirac system from two incompletely given sets of eigenvalues. Akademy Nauk Azerbaijan SSSR Doklady 1985; 41 (5): 8-12.
- [17] Pöschel J, Trubowitz E. Inverse Spectral Theory. Orlando, FL, USA: Pure Applied Mathematics, 1987.

AMİROV and ARSLANTAŞ/Turk J Math

- [18] Sargsjan IS. A theorem of the completeness of the eigenfunctions of the generalized Dirac system. Doklady Akademy Nauk Armian SSSR 1966a; 42 (2): 77-82.
- [19] Sargsjan IS. Solution of the Cauchy problem for a one-dimensional Dirac system. Izvesty Akademy Nauk Armian SSSR Serial Mathematics 1966d; 1 (6): 392-436.